Foundations and Pre-Calculus 10 Honours

5.7 Interpreting Graphs of Linear Functions

Definitions:

The x-intercept (or horizontal intercept) is where the graph of the function intersects
the x-axis.  Jy|sp), Y=0 Leae |

The y-intercept (or vertical intercept) is where the graph of the function intersects the
_axi Mop X=0D het.

y-axis. i—:\/\‘%, X=0 I

Example: This graph shows how the height of a burning candle changes with time.

i of a Burni I a) Determine the coordinates of the x and y-
Height urning Candie intercepts. Describe what these points
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Example: Determine the x and y-intercepts and one other point, then sketch a graph of
the linear function f(x) = 4x — 3. Y
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Example: Which graph has a rate of change of -5 and a vertical intercept of 1007?
Justify your answer.
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Example: This graph shows the total cost for a house call by an electrician for up to 6 h

work. The electrician charges $190 to complete a job. For how many hours
did she work?
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Example: This graph shows the cost of publishing a school yearbook. The budget for
publishing costs is $4200.

Cost of publishing a Yearbook a) What is the maximum number of books that can
be printed? \ 5/7 .

N 1€ | ] I WL
40{30 |
ngaéeuj | : b) Why are the points notjomed? t_’ \
ol \ow uuk ol (*m cdnase oo
‘- QGQ | Al ‘N MW "Df{‘s( )
i f0 150 1@:_0___15 'J&{l
g o i E%‘f‘%“'_‘fﬁ?ﬁ’@"?* c) Determine the domain and range.

D: %30,50,|00,1S0 'CC?S
R ?qu{ pSov, (A0 —;SCL 4500 (§



